43 b4 L5

58 59 60

GBS260RD
O6wwmn Bng

nmct1 n3 4

Un, We
/r 5
Ve N

DYNAMIC DRIVE EQUIPMENT




NO. ApTukyn HanmeHoBaHue NO. ApTukyn HanmeHoBaHue
1 |TBC431D.02.00-3 nepxarenb npoesoaa 47 |GBI/T93
2 |TBC430D.03.02-00 nepxartenb nogseca 48 |GB/T97.1
3 |GB/T70.1 BUHT M5x20 49 |GB/T70.1 BUHT M6x25
4 |TBC430D.03.00-2 ckoba 50 |GBI/T93
5 |GB/T6170 ravika M5 51 |GB/T97.1
6 |TBC431DJ.03.02-00 Basn BepxHui B cbope 52 |TBC430DJ.03.00-1 Basn HWXHAAA YacTb
7 |TBC431DJ.03.02-1 KOXYX Bana BepxHero 53 |TBC431D.06.01-1
8 |TBC430D.03.04-00 HanpaensawLme Bana nnact 54 |GB/T845
9 |TBC431DJ.03.03-00 KOHHEKTOp B cbope 55 |TBC431D.06.00-2 HOX
10 |GB/T70.1 BUHT M5x25 56 |TBC431D.06.02-00 KOXYX AncKa
11 |GB/T93 57 |TBC430D.06.00-1 aepxarternb Koxyxa
12 |GB/T97.1 58 |GB/T70.1
13 |GB/T70.1 BUHT M5x12 59 |GBI/T93
14 |GB/T93 60 |GB/T97.1
15 |GB/T97.1 61 |TBC431D.05.00-2 py4ka pyns
16 |GB/T5781 BUHT M6x50 62 |TBC431D.05.00-1 pynb
17 |GBI/T96 63 |GB/T70.1
18 |TBC431DJ.03.03-7 Hapaluek 64 |GB/T93
19 |GB/T923 ravika M6 65 |GB/T97.1
20 |TBC431DJ.03.03-3 66 |TBC431D.05.03-3 aepxarternb pyns BepxXHun
21 |TBC431DJ.03.01-00 Bas HWXHWIN B cbope 67 |TBC431D.05.03-1 aepxarternb pyns HWKHUA
22 |TBC431D.03.03-00 KOXYX Bana HWxXHero 68 |TBC431D.05.03-2 aepxartenb pyns cpeaHui
23 |TBC431DJ.03.01-1 Hanpasnswwme Bana nnact 69 |GB/T70.1
24 |TBC431D.04.00-00 penykTop B cbope 70 |GBIT93
25 |GB/T894.1 cTonopHoe KonbLo ¢10 71 |GBIT97.1
26 |GB/T893.1 CTOMNOpPHOE KOmnbLo 26 72 |TBC431DJ.03.01-2 HanpasnswLwme Bana metan
27 |GBIT276 NOALUMMHUK 73 |TBC430DJ.03.00-1 Ban BEPXHUN
28 |TBC431D.04.00-2 74 |TBC431D.05.01-00 pyyka ynpasneHusi B cbope
29 |TBC431D.04.00-1 Kopnyc peaykropa 75 |GBI/T70.1 BUHT M5x30
30 |TBC431D.04.00-7 76 |TBC431D.05.01-2
31 |GB/T70.1 77 |TBC431D.05.01-5
32 |GBIT93 78 |TBC431D.05.01-7
33 |GBIT97.1 79 |TBC431D.05.07-00
34 |GBIT276 80 |TBC431D.05.08-00
35 |TBC431D.04.00-4 81 |TBC431D.05.05-00
36 |TBC431D.04.00-3 Ban pegykropa 82 |GB/T6170
37 |GBIT276 nogwmnHuk 6002 83 |GB/T845
38 |GB/T893.1 CTOMOpHOE KonbLo 35 84 |GB/T845
39 |TBC431D.04.00-6 warba npukMMHas Bepx 85 |TBC431D.05.01-1
40 |TBC431D.04.00-5 wawba 86 |TBC431D.05.01-4
41 |TBC431D.04.00-8 Lwarba NPMKMMHAN HWKHAS 87 |TBC431D.05.01-3
42 |GB/T6177.2 ravika M10x1,25 NEBA#A 88 |TBC431D.05.01-6
43 |GB/T70.1 BUHT M6x12 89 |YD38-3.01.11.04-00 BbIKIoYaTens
44 |GBIT93 90 |TBC431D.02.00-5 3awuTa amcka
45 |GB/T97.1 91 |TBC430D.02.01-00 ronoska TpuMmepHas B cbope
46 |GB/T70.1 BUHT M6X12 92 |TBC430D.02.00-1 OuCK

DYNAMIC DRIVE EQUIPMENT

GBS260RD
O6wwun Bng,
Cnncok vyacten
nmmct 2 n3 4




[suratenn
nuct 3ums 4

@)
x
o
©
N
n
28]
O]

DYNAMIC DRIVE EQUIPMENT

106 107108




NO. ApTukyn HaumeHoBaHue NO. ApTukyn HaumeHoBaHue
1 |GB/T70.1 BUHT M5x16 TBC260D.01.14.01-00 |4awika cuenneHus
2 |GB/T93 wanba 59 |[TTR260SJ.01.14.01-00
3 |GB/T97.1 wanba TTR260S.01.14.01-00
4 |TBC261D.01.12.00-00 |cTapTep B cbope 60 |GB/T893.1 KOmbLO cTOoMnopHoe ¢ 35
5 |TBC261D.01.12.02-00 |kpblwka cTapTepa 61 |GB/T276 noawmnHmnk 6202
6 |YD25.02.01-2 62 |GB/T894.1 KOmbLO cTOnopHoe 15
7 |YD25.02.00-5 LWIHYp cTapTepa 63 |TBC261D.01.14.00-1 Kopnyc cuenneHus
8 |YD62.02.00-3 pyyka cTtapTepa 64 |GB/T70.1 BUHT M6x20
9 |TBC261D.01.12.00-5 npyXuHa ctaptepa 65 |GB/T93
10 |TBC261D.01.12.00-4 |GapabaH cTtapTepa 66 |GB/T97.1
11 |TBC261D.01.12.00-6 NpYyXnHa xpanosuka 67 |TBC430D.01.14.00-2 KOXYX LUTaHIn
12 |TBC261D.01.12.00-7 6apabaH xpanoBuka 68 |TBC430D.01.14.00-4 3aXuM WTaHim R
13 |GB/T97.1 69 |TBC430D.01.14.00-3 3aXUM WTaHmm L
14 |GB/T845 BUHT 70 |GB/T70.1 BUHT M5x25
15 |TBC260D.01.00.02-00 [|xpanoBuk cTapTepa 71 |GB/T93
16 |GB/T97.1 72 |GB/T97.1
17 |YD38-3.01.01.02-00 canbHuK 12x22x7 73 |GB/T70.1 BUHT M5x12
18 |TBC260D.01.01.00-2 |kopnyc 74 |GBI/T93
19 |TBC260D.01.01.00-3 |npoknagka 75 |GBI/T97.1
20 |GB/T276 noAwwmnHuk 6001 76 |GB/T70.1 BUHT M5x55
21 |TBC260D.01.03.01-00 |koneHBan 77 |GBI/T93
22 |GB/T1099 wnoHka 3x3,5x10 78 |GB/T97.1
23 |TBC260D.01.03.03-00 |noawwmnHuk 6001 79 |TBC260D.01.09.00-00 |[rnywwuTensb
24 |YD38-3.01.03.00-4 KOMbLO CTONOpHOE 80 |TBC260D.01.00.00-6
25 |GJB25D.01.03.00-2 nanew 81 |GB/T70.1 BUHT M4x12
26 |GJB25D.01.03.02-00 nopLUeHb 82 |GB/T93
27 |GJB25D.01.03.00-1 KonbLo 83 |GB/T97.1
28 |TBC260D.01.00.00-4 npoknagka uinuHapa 84 |TBC260D.01.00.00-5 npoknagka Tennousonatopa
29 |TBC260D.01.00.00-1 LMnmHap 85 |TBC261D.01.00.01-00 |rennousonsaTtop
30 |GB/T70.1 BUMHT M5x20 86 |TBC431D.01.00.00-12
31 |GB/T93 87 |GB/T845
32 |GB/T97.1 88 |GB/T70.1
33 |YD45.01.11.04-00 cBeva 89 |GB/T93
34 |TBC261D.01.00.00-3 nnacTuHa 90 |GB/T97.1
35 |TBC261D.01.00.00-2 KpblLUKa uunuHapa 91 |TBC331D.01.00.00-4 npoknazgka kap6ropatopa
36 |GB/T845 92 |TBC331D.01.06.00-00 |kap6ropaTop
37 |TBC260D.01.11.02-00 |npoBogj 93 |TBC261D.01.08.00-2 Kopnyc cunbTpa Bepx
38 |TBC430D.01.11.00-1 CBEYHOW Komnnayek 94 |GJB25D-2.01.08.00-2 [cunbTp BO3S
39 |TBC260D.01.11.01-00 |marHeTo 95 |GB/T70.1
40 |GB/T70.1 BUHT M5x20 96 |GB/T93
41 |GB/T93 97 |GB/T97.1
42 |GB/T97.1 98 |TBC261D.01.08.00-1 Kopnyc punbTpa H13
43 |GB/T119.2 WTndT h5x10 99 |TBC261D.01.08.00-00 |dunbTp BO34 B cbope
44 |TBC260D.01.01.00-1 |kapTep neBasi YacTb 100 |TBC431D.01.13.01-1 |npobka 6aka
45 |GB/T70.1 BUHT M5x25 101 |TBC431D.01.13.01-3 |npoknagka npobku
46 |GB/T93 102 |TBC431D.01.13.01-2
47 |GB/T97.1 103 |TBC261D.01.13.00-1 |6ak TONNMBHbLIN
48 |YD38-3.01.01.02-00 canbHuK 12x22x7 104 |TBC431D.01.13.00-2 ammopTu3aTop 6aka
49 |TBC260D.01.10.00-00 [maxoBuk 105 |TBC261D.01.00.00-7 Kpbliwka Tonn.6aka
50 |GB/T6177.2 ravika maxosuka M8x1 106 |GB/T70.1
51 |GJB25D.01.00.00-15 107 |GBI/T93
52 |TBC260D.01.00.03-00 |cuenneHue 108 |GB/T97.1
53 |GJB25D.01.00.00-14 BUHT cLenneHuns 109 |YDA45.03.00-5
54 |GB/T119.2 Wt péx12 110 |TBC431D.01.13.00-6 canyH
55 |TBC261D.01.01.00-4 KpbILLKa cLenneHus 111 |TBC430D.01.13.00-4 LnaHr Tonn
56 |GB/T70.1 BUHT M5x20 112 |TBC430D.01.13.00-5
57 |GBJ/T93 113 |TBC431D.01.13.00-3
58 |GB/T97.1 114 |TD38-3.03.04-00 punbTp TOMN

DYNAMIC DRIVE EQUIPMENT

GBS260RD

[lBuratenb

Cnucok yacTemn

mmct 4 ns 4






